HOUGHTON COUNTY APPORTIONMENT MAPPING
ALL MAPS ARE WORKED FROM NORTH TO SOUTH
Total Population of Houghton County: 37,361
Perfect District 4       37,361/4=9,340/District     11% of 9,340 x 0.11=1,027       9,340-1,027=8,313           9,340+1,027=10,367
Perfect District 5      37,361/5= 7,472/District     11% of 7472 x 0.11=822           7,472-822=6,650               7,472+822=8,294
Perfect District 7       37,361/7= 5,337/District     11% of 5,337 x 0.11=587         5,337-587=4,750               5,337+587=5,924
Perfect District 9       37,361/9= 4,151/District      11% of 4,151 x 0.11=457         4,151-457=3,694              4,151+457=4,608
______________________________________________________________________________________________________________________
11% of Houghton City (District 4): 8,386 x 0.11=922 People    8,386-922=7,464        or 8,386+922=9,308

Population                              people needed or excess to meet 11% of Houghton (District 4)
District 1 6,763                   7,464-6,763=701 needed      
District 2 7,589                   7,589-7,464=125 excess
District 3 7,041                  7,464-7,041=423 needed
District 4 8,386                              ----------
District 5 7,582                      7,582-7,464=118 excess

Conclusion: unable to reconcile numbers in five district mapping, No smallest district would meet 11% standard without splitting Houghton
______________________________________________________________________________________________________________________


Example A: Perfect District 5      37,361/5= 7,472/District     11% of 7472 x 0.11=822           7,472-822=6,650               7,472+822=8,294
                                                                     MOVE PORTION OF DISTRICT 4 INTO DISTRICT 3
District 1:Calumet Twp 6,262                            % relative to perfect
                  Hancock Twp    500
                
                    Quincy Twp 375
                                       7,137         7,137/7472=96%      100%-96%=4%
                  
District 2: 
Franklin Twp           1,507
Osceola Twp           1,822
Schoolcraft Twp     1,992
Torch Lake Twp      1,893
                                   7,214           7,214/7472=97%     100%-97%=3%


District 3:
Adams Twp           2,540
Hancock City         4,501
                                 7,041          7,041/7472=94%       100%-94%=6%
                                 + 400 District 4 residents
                                  7,441         7,441/7472=99.58%   100%-99.58%=0.42%                       
                     


District 4:
Houghton City      8,386             8386/7472= 89%   100%-89%=11%  
                                  -400 
                                7,986               7,472/7,986=96%   100%-96%=4%
                                    



District 5: 
Chassell Twp       1,878
Duncan Twp           234
Elm River Twp       204
Laird Twp               487
Portage Twp       3,189
Stanton Twp       1,590
                              7,582            7,582/7472=99%     100%-99%=1%

NOTES:
Before changes to districts: 
Variance of smallest to largest: District 3/District 4:  7,041/8,386=84%  100%-84%=16%   (must split district 4)
After changes to districts: 
Variance of smallest to largest: District 1/District 4:  7,137/7,986=89%   100%-89%=11%  *Within acceptable parameters                                                    

Houghton - Perfect =8,386-7,472=914 excess people to be perfect
                                      8386-8,294=92 to meet maximum required number
District 1 (7,137) would be the minimum number in the variance equation
                   Moving 400 people from District 4(8386-400=7,986) would give a variance of: 7,137/7,986=89%  100%-89%=11%

5 Districts: Guideline Discrepancies: 
1. Splitting of a City
2. Adams Twp, Houghton City and Hancock City not connected physically, Portage Lake separates
5 Districts: Benefits:
1. Least change to existing structure. It moves only 735 residents into different districts out of 37,361 residents.
2. Keeps district numbers the same
3. Keeps district numbers odd, (no stalemates)keeps government moving
4. Has the least amount of guideline discrepancies 
______________________________________________________________________________________________________________________
Example B: Perfect District 5      37,361/5= 7,472/District     11% of 7472 x 0.11=822           7,472-822=6,650               7,472+822=8,294
                                                            MOVE PORTION OF DISTRICT 4 INTO DISTRICT 5
District 1:Calumet Twp 6,262
                  Hancock Twp    500                          % relative to perfect
                
                    Quincy Twp 375
                                       7,137         7,137/7472=96%      100%-96%=4%
                  
District 2: 
Franklin Twp           1,507
Osceola Twp           1,822
Schoolcraft Twp     1,992
Torch Lake Twp      1,893
                                   7,214           7,214/7472=97%     100%-97%=3%


District 3:
Adams Twp           2,540
Hancock City         4,501
                                 7,041             7,041/7472=94%          100%-94%=6%
                     


District 4:
Houghton City      8,386             8386/7472= 89%   100%-89%=11%  
                                  -400 
                                7,986     
                                    



District 5: 
Chassell Twp       1,878
Duncan Twp           234
Elm River Twp       204
Laird Twp               487
Portage Twp       3,189
Stanton Twp       1,590
                              7,582             7,582/7472=99%     100%-99%=1%
                               +400 residents from District 4
                               7,982             7,472/7,982=94%     100%-94%=6%

NOTES:
Before changes to districts: 
Variance of smallest to largest: District 3/District 4:  7,041/8,386=84%  100%-84%=16%   (must split district 4) 
After changes to districts: 
Variance of smallest to largest: District 3/District 4:  7,041/7,986=88%    100%-88%=12%  *just outside of acceptable limit 
Houghton - Perfect =8,386-7,472=914 excess people to be perfect
                                      8386-8,294=92 to meet maximum required number
District 3 (7,041) would be the minimum number in the variance equation
                   Moving 400 people from District 4(8386-400=7,986) would give a variance of: 7,137/7,986=89%  100%-89%=11%

5 Districts: Guideline Discrepancies: 
1. Splitting of a City
2. Adams Twp and Hancock City not connected physically, Portage Lake separates
3. Variance is 0.01% off maximum limit of 11.9%
5 Districts: Benefits:
1. Least change to existing structure. It moves only 735 residents into different districts out of 37,361 residents.
2. Keeps district numbers the same
3. Keeps district numbers odd, (no stalemates)keeps government moving
4. Has the least amount of guideline discrepancies 
5. Keeps Houghton City residents on same side of Portage Lake
______________________________________________________________________________________________________________________

Perfect District 7       37,361/7= 5,337/District     11% of 5,337 x 0.11=587         5,337-587=4,750               5,337+587=5,924
[bookmark: _Hlk82916287]Calumet Twp.             6263 (too big, needs to be split) 6,263-5,924=339 excess people
Hancock Twp               500
Franklin Twp           1507
Osceola Twp           1822
Quincy Twp               375
Schoolcraft Twp       1992
TorchLake Twp         1893
Adams Twp           2540
Hancock City         4501
Houghton City      8386   (too big, needs to be split) 8,386-5,924= 2,462 excess people                           
Chassell Twp       1878
Duncan Twp         234
Elm River Twp      204
Laird Twp              487
Portage Twp         3189
Stanton Twp         1590
                            
District 1: Calumet Twp 6263 –4,800=1,463 excess people        4,800 
District 2: 1,463 calumet twp people
                   1507 Franklin Twp
                   1822 Osceola Twp
                   4,792
                     
                     

District 3: 1992 Schoolcraft Twp
                   1893 Torch Lake Twp
                     500 Hancock twp
                     375 Quincy Twp
                   4760
                   
District 4: 4501   Hancock City
                   1,423 Houghton city excess
                  5,924
                   

District 5: 8,386 Houghton City-5,924 =2,462         5,924                 2,462-1,423=1,039 excess people after giving to Hancock City

District 6: 2540    Adams Twp
                   1,039  Houghton City excess
                       234  Duncan
                        487  Laird
                      
                     1,590 Stanton
                     5,890


District 7: 3,189 Portage Twp
                   1,878 Chassell Twp
                       204 Elm River
                  5,271
                                    
All 7 districts fall within 11% variance from perfect. 
Variance smallest to largest:   District 3: 4,760/District 5: 5,924=80%  100%-80%=20%  Not within the 11% parameter
You could split Chassell, ignore the Portage Lake, and add to District 3, allowing Torch Lake to contact Chassell. 

7 Districts:  Guideline Discrepancies: 
1. Splits Houghton City three ways
2. Splits Calumet
3. Has a 20% variance between largest and smallest districts
4. In order to fix variance would need to ignore Portage Lake and split Chassell twp.
  ______________________________________________________________________________________________________________________
Perfect District 9       37,361/9= 4,151/District      11% of 4,151 x 0.11=457         4,151-457=3,694              4,151+457=4,608
Calumet Twp.             6263 (too big, needs to be split) 
Hancock Twp               500
Franklin Twp           1507
Osceola Twp           1822
Quincy Twp               375
Schoolcraft Twp       1992
TorchLake Twp         1893
Adams Twp           2540
Hancock City         4501
Houghton City      8386   (too big, needs to be split in two  8,386/2=4,193)
Chassell Twp       1878
Duncan Twp         234
Elm River Twp      204
Laird Twp              487
Portage Twp         3189
Stanton Twp         1590

District 1: Calumet Twp  6263 – Perfect District 4,151=2,112 excess from perfect        4,151

District 2: Calumet Twp excess 2,112
                   Hancock Twp                  500
                   Franklin Twp                 1,507
                                                            4,119

District 3: Osceola Twp      1,822
                  Quincy Twp            375
                  Schoolcraft Twp  1,992
                                                 4,189

District 4: Torch Lake Twp   1,893
                   Chassell Twp        1,878
                                                   3,771
                   
District 5: Hancock City      4,501

District 6: Houghton City 1: 4,193-3,694=499        3,694 

District 7: Houghton City 2: 4,193-3,694=499         3,694

District 8: Houghton City excess:  998
                  Duncan Twp: 234
                  Laird  Twp:      487
                  Stanton Twp  1,590
                                           3,309           3,309/4,151=80%  100%-80%=20% variance from perfect

District 9:  Portage Twp 3,189
                    Elm River          204
                                             3,393         3,393/4,151=82%  100%-82%=18% variance from perfect


Variance smallest to largest: District 8: 3,309/District 5: 4,501=74%  100%-74%=26%  variance


                   
9 Districts: Guideline Discrepancies: 
1. City of Calumet split
2. City of Houghton split into three
3. District 8 has a 20% variance from perfect district, Not in compliance with 11%
4. District 9 has a 18% variance from perfect district, not in compliance with 11%
5. Variance from smallest to largest district has a variance of 26%, not in compliance with 11%
______________________________________________________________________________________________________________________
Houghton County Townships Association recommends remaining with 5 County Commissioner Districts 
                                                               (5 Commissioners example B is our preferred)
Reasons:
1. The historical size of Houghton County Commissioners have been 5 since 1982.
2. The number of commissioner seats was set in 1982 at 5 when the Houghton County Census was: 38,134 people, higher than it is today.
3. It has the least number of infractions against the legislated criteria.
a. Houghton City is split to meet perfect district guidelines.
b. Adams Township and Hancock City is divided by Portage Lake. 
4. The number of Commissioners will remain an odd number which is common on governmental as well as most non-governmental boards, to prevent stalemates.
5. Our relation to other counties in terms of number of commissioners per-capita we find that Michigan has a total of 622 commissioners per 10 million people or about 16 thousand per commissioner.  We are far below this level in Houghton County, and proposals for more commissioners take us further from the norm of other counties, rather than closer. If we were to strive to have similar numbers of commissioners per capita we would drop down to 3 and an obvious solution would be to consolidate Hancock and Houghton and then divide the rural districts into 2 commissioners.
6.  The cost of an increased number of commissioners would be a real concern for most people.  The cost of insurance and travel and other expenditures placing the real cost of a commissioner, I’m guessing around $20,000/annual. 


*THANK YOU FOR ALLOWING HOUGHTON COUNTY MTA TO SUBMIT OUR VERSION OF OUR COUNTY COMMISSIONER DISTRICTS.
WE LOOK FORWARD TO YOUR FINAL PRESENTATION

SINCERELY,
MARY SEARS
HCMTA PRESIDENT

